FURUNO

PACKING LIST FOR TZT16X

For Internal Use Only

Serial No.

Box 1 - TZT16X

Part No.
TZT16X
Cover
000-197-094-10
100-360-677-10
TZX-CHT-SD1
999-999-806-10
Screw
Screw
Screw
0 Screw
999-999-809-10
9 000-201-087-10
10 001-646-980-00
11 000-200-955-10
12 000-201-155-1Z

13 000-200-145-1Z
14 000-201-149-1Z

0 =2 O©oOoONOOOP,WN =

Wt: 11 Ibs. Dim: 14" x 10" x 15"

Description Quantity
16" MFD Display Unit 1

16" Silicone MFD Cover

7.5A Fuse

LCD Cleaning Cloth

512G TZ Maps Chart Card

Display Mounting Support

M3 x 25 Screw

M4 x 30 Screw

M4 x 20 Screw

M5 x 20 Screw

Screw Cover 16"

2m Power Cable

5m Network Cable

12p to 10p Fish Finder Adaptor Cable
Installation Manual

Operator's Guide
Flush Mounting Template TZT16X

_ A A A A a NN DNMNOODODODOODNAN A A A

REV 8/24

Page 1 of 1

Checked By:
Tech
Date
PP505
Yes Remarks

000-201-194-10




